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4.3 Common Logarithms =/% base 10
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Logarithms with base 10 2 vy = log x ﬁ'; /"ﬁﬂ’( W

Exponent of 10
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Use your calculator to find these common logs to 4 decimal places:
log 4 = log 128 = log § = 30/0
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Find x to nearest hundredth:
1. log x = 2.5499 2. logx=0.4398 3. log x=-0.0251
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Write in exponential form:

o)
1. logl1=0 2. log.01=- 3. logs:81:=4
it jo =0l 1= 5/
o__ D= -
jo = 3
4. log232=5 5. logak=M
?5: 32~ AM=K
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Write in log form:

1. 10%=10,000 2. 102=0.01 3. 4°:-64
loﬁ fo,u® = ('{ /qj O =-L /09‘/("(:—3
4. 35:=243 5. PI=H
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Evaluate without a calculator

@ log,3 =X
Y =2
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Change of Base Law:
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Use your calculator and the change of base law to evaluate the following to 4 decimal places:
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3. logs73 = /gz 7—;
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